1. Economics IV

2. Oligopoly and Monopolistic Competition
Section 1: Explain why the following statements are true or false

3. In the Cournot quantity setting game, players do not cooperate because they achieve higher utilities (or payoffs) by playing uncooperative strategies.

4. In pure Bertrand competition (and given no fixed costs), the firm with the lower marginal cost will have a profit equal to the number of units sold in the entire market, times the difference between its marginal cost and that of its opponent.

5. Under Cournot competition, the firm with a higher marginal cost (no fixed costs, marginal cost=average cost) will not produce anything.

6. In infinitely repeated Bertrand competition, an increase in the probability of the game ending in any future period will tend to decrease the incentive that each player has to deviate from the agreed-upon cooperation strategies.

7. In quantity constrained Bertrand competition, no firm would be willing to lower its price below the price that generates market demand equal to the firm’s capacity.

8. Since P=MC in monopolistic competition, the long run profits of all firms in the market are zero.

a. A monopolistically competitive firm always produces along the downward sloping section of its average cost curve.

Section 2: Solve the following

1. Suppose that two firms A and B operate under conditions of constant average and marginal cost, but that MC(A)=10 and MC(B) =8.  Suppose demand for the firms’ output is given by Q=500-20P.

b. If firms practice Bertrand competition, what will be the price in the market, the output of the two firms, and their profits?

2. If the firms practice Cournot competition, how would your answers change?  Can you conclude that price competition is tougher than quantity competition?

a. Suppose the market demand curve for telephone calls is given by Q=200-5P.  The two firms in this market (A and B) have zero fixed costs and identical marginal costs of c=10.

b. If the firms play a Cournot (quantity setting) game, what are the firms’ “best response” functions?  Derive these functions and graph them.  Then solve for the equilibrium price, quantities, and profits of the firms.

c. If the firms play a Bertrand price setting game, how would your answer to (a) change?  Explain your reasoning carefully.

3. Suppose now that there is a cost of switching customers from firm A to firm B or vice versa.  This cost is equivalent to s=2 per unit sold.  Suppose that initially the two firms share the market equally.  What will be the price in the market, the market shares, the quantities sold, and the firms’ profits?

4. Consider the competition between ice-cream cone vendors on a beach.  Suppose to begin with that the ice cream shops are at opposite sides of a beach of length 1 (A has position 0 and B has position 1):



a. From our class discussion of this problem we know that for MC(A)=MC(B)=c (and no fixed costs), each firm will charge P=1+c.  The indifferent consumer will be located at exactly x=1/2, so the firms share the market equally and each earns a profit of (1/2).  Now consider the possibility that one firm (A) could move its location to the point 0.25.

b. If firms A does move to 0.25, what condition must hold between the price of firm A and that of firm B so that all the consumers to the left of A will only buy from A?

c. Among the consumers located between 0.25 and 1, what is the location of the indifferent consumer?

d. Suppose that the condition in (a) holds.  Write down the maximization problem for firm A and firm B.  Remember that firm A now sells to all consumers to the left of its location in addition to the consumers in between A and B that prefer to buy from A.

e. Solve the maximization problems for both firms.  What will be the market equilibrium prices, the location of the indifferent consumer, and the profits of the two firms?

f. Is condition (a) fulfilled in this equilibrium?  Is firm A better off by moving to the new location?
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